Final Exam; F4360; 11:00 Class; Spring, 2000


Name ______________________________

Use the following information to answer questions 1 through 3

Just in case you didn’t know, Amazon.com is an internet retail company while Barnes & Noble sells books in physical book stores.  As with other e-commerce firms, Amazon has no retail outlets and thus fewer physical assets than Barnes & Noble.  In addition, like other e-commerce firms, Amazon has steady losses while Barnes & Noble generates profits each year.  Amazon’s cash flows are also more volatile than those of Barnes & Noble.  Finally, Barnes & Noble was established years before Amazon, so that it’s track record is longer.

1.  How would you expect Amazon’s capital structure to differ from Barnes & Noble’s?  Explain.

2.  Which firm would you expect to be more likely to pay a dividend?  Explain.

3.  How does the greater volatility of the cash flows generated by Amazon affect the value of Amazon’s assets relative to Barnes & Noble’s?  Explain.

4.  How would you determine whether Amazon or Barnes & Noble were managing their assets more effectively?  Explain.

5.  Stockholders are only one group with an interest in how a company funds itself.  Explain how possible conflicts of interest between these various groups (including stockholders) affects the optimal capital structure for a firm.  Explain also how these conflicts can be resolved.

6.  Assume you are considering purchasing a put on Amazon with a strike price of $55 which expires in May (16 days from now).  Amazon’s current stock price is $58 per share.  Amazon returns are far riskier than the market as a whole as evidenced by the Amazon’s standard deviation of returns of 68% compared to the market’s standard deviation of returns of 22%.  You estimate that the standard deviation on the put is 145% and on a similar call is 129%.  Given the following returns on Treasury securities, what is the value of this put to you?

Rate on Treasury securities by maturity:  1-day=5.08, 8 day=5.17, 15-day=5.17; 22-day=5.26; 29-day=5.39; 1-year=5.49; 30-year=5.43

7.  Assume you are planning to purchase shares of Barnes & Noble and have collected the following information:

Year ending
Return on:

in April
Barnes & Noble
S&P500 

2000
-46.8%
10.8%

1999
2.6%
22.1%

1998
80.7%
40.7%

1997
8.3%
24.5%

Calculate the numbers you would need for Barnes & Noble in order to determine the impact that investing in Barnes & Noble would have on the expected return and risk of your well-diversified portfolio?

8.  Amazon is considering building a number of Internet Cafés called The Amazon Forest Café.  Each Amazon Forest Café will contain a coffee shop and deli, samples of products that Amazon has for sale, and of course computer kiosks at which you can place orders with Amazon.  Amazon estimates that each café will cost $6 million to build and will generate additional net cash flows of $49,000 per month beginning two months after the café is built.  After the café is opened, net cash flows would be expected to increase by 15% per month for  6 months .  After this initial period of growth, monthly net cash flows would remain stable until the café is closed 10 years after it is built.  The beta of a café would be 1.8.  The return on the S&P500 is expected to equal 14% per year for the foreseeable future.  The annualized return on Treasury strips are as follows: 1 month:  5.39%, 1-year:  6.36%, 10-year:  6.46%, 30-year:  5.50%.

Should Amazon build the cafés? 

